MNoAAanAaclaopog TOAVWVURUWY
MNw¢ moAAamAaoctalw SUo MoAvwvVU QL

(a+B)- +d)=a-y+a-6+p-y+p-6

To a 1o moAAamAaoLlalw Ue To (y + 6).
To B to moAamAaolalw pe to (y + 8).
Napadeypa

x+1D) - @+2)=xy+x-2+1-y+1-2=xy+2x+y+2

MoAAarmAaoldlw to X PE To (y+2) = xy + 2X

MNoA\amAaoctalw to 1 pe to (y+2) = 1y + 1*2

ACKNOEL

No KAVETE TIC TPALELC.

N)(a+1)-(B+1) =

YkédTopaL:

MoMarmlactdlw to a peto (B+1),8nkadh a-(B+1)=af+1-«a
MoMarmlactdlw to 1 peto (B+1),8nkady 1-(B+1)=18+1-1

Apa (a+1)-(B+1)=

) (a+1D)(B+2)=

) (x+1D(y+3) =

4) (x+2)(y+3) =

5 (x+2)(y+5) =



